BIOGENIC EMISSIONS
DENSITY MAPS




EMIS DENSITY, MEGAN v3 VS BEIS3, ISOP, 0601-0630
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N: 3198, MIN: -1.15, MAX: 1.40, AVG: 0.04
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N: 3198, MIN: 0.01, MAX: 2.40, AVG: 0.54
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N: 3198, MIN: -91.74, MAX: 3541.40, AVG: 63.18
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EMIS_DENSITY, MEGAN v3 VS BEIS3, ISOP, 0701-0731

BEIS3 (Tons/km?)
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N: 3198, MIN: 0.00, MAX: 3.12, AVG: 0.58
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N: 3198, MIN: 0.02, MAX: 3.78, AVG: 0.74
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EMIS_DENSITY, MEGAN v3 VS BEIS3, ISOP, 0801-0831

BEIS3 (Tons/km?) MEGAN v3 (Tons/km?)
L | L 3.0 L | | 3.0
2.5 2.5
2.0 2.0
1.5 1.5
1.0 1.0
0.5 0.5
; , 0.0 : ! i 0.0
N: 3198, MIN: 0.00, MAX: 2.51, AVG: 0.45 N: 3198, MIN: 0.02, MAX: 2.61, AVG: 0.57
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N: 3198, MIN: -1.06, MAX: 1.79, AVG: 0.12 N: 3198, MIN: -85.58, MAX: 4083.18, AVG: 93.25



EMIS DENSITY, MEGAN v3 VS BEIS3, ISOP, 0901-0930

BEIS3 (Tons/km?) MEGAN v3 (Tons/km?)
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N: 3198, MIN: -0.69, MAX: 1.08, AVG: 0.07 N: 3198, MIN: -91.15, MAX: 3991.04, AVG: 74.26




EMIS DENSITY, MEGAN v3 VS BEIS3, NO, 0701-0731
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N: 3198, MIN: 0.00, MAX: 0.06, AVG: 0.02
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EMIS DENSITY, MEGAN v3 VS BEIS3, SESQ, 0701-0731
BEIS3 (Tons/km?) MEGAN v3 (Tons/km?)
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N: 3198, MIN: -0.14, MAX: 0.01, AVG: -0.02 N: 3198, MIN: -97.32, MAX: 53.60, AVG: -52.65




